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5+y 4 �_'  , 9 5 �Y��$ ( ��4D�� &%-/t�# &��FG�I�J� ,  &FG���Dg)PJ�.�#1 /+�45>������%-F0���D��$ 5�( �#��$&%+�xy�y�y�y�y�y�y�y 4 m 7
5+y 4 8 '), $V$&�#1+%-�D���J$ = 4D$&% ���# &�;��� * ����F&1 ��%+�D��� ,  &9+�EeV��y ���DFG�8�����# O����$G%�������$&� y�y�y�y�y�y 4 m 8
5+y 4 � '  , 9 5 ����$ ( ��4��Y &%+/ �# &��F&��� � ,  &F&�D�DgAPJ�.�#1�� , $V$&�#1+%-�D���B$ = 4D$G%A���# &�;��� * ����FG1A��%+�D���

,  O9+�EeO &���8�D/ y�y�y�y�y�y�y�y�y�y�y�y�yHy�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y 4 m 8
o ���8�



�)y 4 � (  &%A��� = 6V��%+F � (+, $G� FG��$ P ��1 y�y�y�y�y�y�yHy�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y 4 5 j
�)y j ')( 9i��� / ��� , 9i$&�# 5 ���D��$ 5�( ����$G% y�y�y�y�y�y�yHy�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y 4 5 m
�)y m }J�D� (+5 ��� $ = ���DFG�8���#�����8%+F  6&$ ( %+F =  &4��H��$  &% $ 5 /+��� =  &4D�Oy y�y�y�y�y�y�y�y�y�y�y�y 4 5��

�)y 5 23 &4��D� PJ�8��1t�8%A�#�D� , ��/+�< "�#�H &FG���Yy�y�y�y�y�yHy�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y 4 5 7

�)y � }J��e&�D������%+F �#1-��� 5>��4���� $ =  &FG�8%+F+g: O%+/t &FG��%-F  =  O4D� =?( ����1+�D� y�y�y�y�y�y�y�y�y�y 4 5 7

�)y67 M  &�;�#$V$G% , $O�#��$&%�4| &9-� ( ��� y�y�y�y�y�y�y�yHy�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y�y 4 5 8

�)y � �  5 ��/: "�#��$&%� &%+/ � , 9+��$fe&� , �D%A�J$ = 9+1A6)����4�� *  O���D/t����FG���;�#�� O�#�8$G% , $V/+� 5 � y�y�y�y 4 � l

o �8e
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�S( �c9+��� ,  &��6�FG$A 5 ���[��$�/-�D���8FG%  &%+/  &%: 5 6 6D�J &%  5 FG$G���8�#1 , = $&�[�#1+� ���DFG�8���#�� O�#�8$G%0$ = � ,  &FG���Dy
�7,  &FG� ���DFG�8�����# O����$G% r  5 ��$ � %+$ PJ%  &�S� ,  &F&� =?( ����$G%>g>� ( 9i��� / � , 9u$G���8�#�8$G% g3$G� ,  O��4!1+��%-F s 4D &%
* � * ��$A O/ 5 6t/+� @ %+�D/{ &�S��1+�09+��$V4D�����H$ = @ %+/-��%+F  ���# &%+� = $G� ,  O����$G%t�#1: O�Y 5 �8FG%+��$&%+�0� ,  &FG�
�#$� &%+$O�#1+���Dy �S( � = $V4 ( � ��% 9: &�;�#�84 (+5  &�[��� $G% , �D/+�84| 5 � ,  &F&�D�DgOPJ1+��4!1p9+�������D%A���E��$ , � ( %+�8C ( �
4!1: 585 ��%+FG�D��gc &%+/ = $G��PJ1-��4!1 ��1+�D���� &���p 5  &��FG� % (+, * �D��$ = ��%A���D����������%+F~ &9+9 5 ��4| "�#��$&%+�Dy�z{�
* �DFG�8% ��1+� @ �����B4!1: &9-���D� PJ�.�#1  = $G� ,  5 �;�! O��� , �D%A� $ = �#1-��9+��$ *+5 � , g �8%+4 58( /+��%-F� O% ��%A� ( �8���8eG�
� o 9 5  &%: O����$G% $ = PJ1A6 ��1+���09-��$ *+5 � , ���01: O��/ y�1 1+� � , 9i$G�;�! &%-4D� $ = ���DFG�8�����# O����$G% PJ� 5�5  5 ��$
* �t� o 9 5 $G���D/  5 $&%+F PJ�8��1  /+�8��4 ( ������$G% $ = 4 ( �����D%A� �#��4!1+%+��C ( ���Dy � % ��1+� ����4D$G%+/ 4!1: &9-���D��g
�#1-�t/-���! O� 5 � $ = $ ( �  5 F&$G���.�#1 ,  &��� =?(-5�5 6{/+����4D��� * �D/ y � % �#1-� ��1+����/ 4!1: &9-���D�Dg �#1+��� 2 4| &4I6
$ = ��1+�  5 FG$G���8��1 , $G%  {PJ��/+�t�# O%+FG�~$ = ��� , (+5  "�#�D/  &%+/ ���| 5 � ,  &F&�D��6 ��� /-� , $G%+�����# O���D/ y
� % �#1+� = $ ( �;�#1 4!1: &9)�#�D��g\��1+� ����� (+5 �#�H$ =  ���D%+���8���8eV�8�76  &%: 5 6)�����Y$ = �#1-� ��%A�#����� ��6V����� , PJ�8��1
������9u�D4I�B�#$H�#1-� /+�����8FG%  &��� (+, 9-����$G%+�  &��� 9-���D���D%A�#��/ y 2L��%: 5�5 6&g&�8% M 1: O9-�#��� �)g ��$ , � 9i$&����� *+5 �
 &9+9 5 ��4D O�#�8$G%+� $ = � ,  OFG� ����FG���;�#�� O�#�8$G%  &��� � o 9 5 $G���D/ y }J�| O/+�D����9-��� ,  &��� 5 6 �8%A�#�D���D�;�#�D/{��% �#1-�
/+�I�! &� 5 �0$ = $ ( � ����FG���;�#�# "�#��$&%  5 FG$&���8��1 , gc$G�  5 ���| &/-6 =  , � 5 �� &�HPJ�8�#1 �#1-� =?( %-/: , �D%A�! 5 �0$ =
� ,  &FG�����DF&�������# O����$G%>g+ &���Y�D%+4�$ ( �# OFG�D/ �#$ * ��FG��%��8% M 1: &9-���D� j y

4
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v]wxv]w&v y{z}|L~L�S�����+~

�7,  &FG� ���DF&�������# O����$G% 4| O% * � /+� @ %+�D/  &� �#1+��9+��$V4D�����E$ =>@ %+/+�8%+F  ,  &9+9-��%+FH�#1: "�  5 ��FG%+� $G%-�
� ,  &FG���#$  &%-$&�#1+���Dy�z �8�#1 ��1+��� ,  &9+9-��%+F+g> �4D$G�����D��9i$&%+/+�D%-4D� * �I�7PB���D%{9+� o � 5 �Y��%  ���$ ( ��4��
� ,  &FG� PJ�8��1 �#1-� 9+� o � 5 � �8%  x�! O��FG�I� � ,  &FG� �����D�;�! *+5 ����1+�D/ y 8 $G��� 9-���D4������ 5 6&g[�#1+� FG$A 5 $ =
����FG���;�#�� O�#�8$G%����E��$ @ %+/~ 4D$&��������9u$G%+/+��%+4D� =?( %+4I�#��$&% g+$G� ,  &9+9+�8%+F+g

M (·)
g+�#1: "� �! &�O�D� �| &4!1

��9+ O�#�� 5 4D$V$G��/+��%: "�#�
~xt

= ��$ , �#1+� �# &��FG�I� � ,  &FG�B &%+/ ����� ( ��%-�  Y4�$)$G��/+��%+ O�#�
~xs

= $&�L�#1+�J��$ ( ��4��
� ,  &FG�Oq

~xs = M (~xt) .
r 4 y 4 s

� %+4D�� ����FG���;�#�# "�#��$&% ,  &9
M (·)

1: &� * �D��%x$ * �! &�8%+�D/ g+��1+�H��$ ( ��4D��� ,  &FG� ,  |6 * � * ��$ ( FG1A�
��%A��$ ���DFG�8�����# O����$G% PJ�.�#1 �#1+�Y�# &��FG�I�J� ,  &FG� * 6 PB &��9+��%+F0��1+�H��$ ( ��4D� ( ���8%+F ��%A�#����9u$ 5  "�#��$&% g- O�
��1-$fPJ%x��%t2L�8F ( ��� 4 y 4 y#�

���p�j�V�}�V�5�.�����\�V�����0�N�s���V�s�j���V�N�H�S�8�}���s�V���x�V���j�N�!�x�N�����3�H�����Q�8�N�.������ ?¡��V�N�����j�������������0¡#�j���5�Z¢����£���&�x�
�H¤�¤5�V�j�N���&�p�H�N�\�S�H���j���Q�N�¦¥!�&¤��x�s�§�������x�H¤�¤§�F�3���!�&�N�V�p�3�H�N���§�N�N�©¨C�V�N�H�S�8���3�j���������+�&�j�_�H¤��8��¢������
�V�x�V���j¤��.���x�
�V���s¢!���j�§�@���!�&�5�8���3�H���N�§���5�

j



v]wxv]w�� � z����4z���z�~+�
	������]~ ���>��
^z���	����)��~��

� %_$G��/+�D� �#$ eV�8� (  5 �76��t��1+�~���DFG�8���#�� O�#�8$G% ,  &9-9+��%+F
M (·)

gE�7P $  &9+9+��$A &4!1+���� &��� ( ���D/ q  
������������ ��"!#�  &9+9-��$A &4!1  &%+/  %$'& �  &9+9+��$A &4!1 y 1 1+�BPB &��9u�D/0FG����/0 O9+9+��$G &4!1 �! O�&�D�  ���DF (+5  &�
FG����/� &%-/ ( �����E�#1+� ,  &9+9-��%+F

M (·)
�#$ PB &��9t�.�|y 1 1+�)(:$ P  &9+9+��$A &4!1�/+��9+��4I�#�B��1+� ,  O9+9+��%-F

 O�  � (+* ���I� $ = /-����4����I�#� 9i$&��%A� PJ�8��1  ���# &%-� 5  "�#��$&% eG��4��#$&�Dy 1 1+��e&�D4���$G�  O� �| O4!1 ��$ ( ��4��
9+� o � 5-5 $)4D O�#�8$G% /+����4���� * �D�[��1+� ,  &FG%+�.� ( /-�E &%+/0/-������4�����$G%��#$S�#1-�E4D$G��������9u$G%+/+�8%+FS�! &��FG���[9+� o � 5
5 $V4| "�#��$&% y 2L�8F ( ��� 4 y j ��1+$ PJ� ��$ , � � o  , 9 5 �D��$ = ��1+� FG����/{ &%+/*(:$ P ���D9-���D���D%A�! "�#��$&%+�Dy � %
�#1-��4| O���S$ = ��1+��F&����/p����9+�������D%A�# O�#�8$G% g+�.�B�8� 1: O��/+���B�#$����D��� ,  5�5 �#�� &%+� 5  O����$G%+� r  H�#�� &%+� 5  O�#��/
FG����/ �8� �;�#� 5�5  FG����/3s y � % ��1+�S4| O���S$ = �#1+��(+$fP ���D9+���D���D%A�! O����$G%>g-�8� ��� 1: &��/+�D� �#$ eV��� (  5 �76D�J�#1-�
$ eG���# 585 � 5>��4���$ = ��1+�����# &%+� = $G� ,  O����$G% y91 1+����� �7P $ = $G� ,  O��� PJ� 5�5>* � ( ����/ ��%A�#����4!1: O%+FG�| *+5 6
�#1-��$ ( F&1+$ ( � ��1+���E��1+�D����� �#$ /+�D9-��4�� ��1+�H����FG���;�#�# "�#��$&% ,  &9-9+��%+F-y
v]wxv]w#+ ,-����.&�0/1	������]~��

�7,  &FG�����DFG�8�����# O����$G% 1+ &�E��e&$ 5 e&�D/t��%+/-�D9u�D%+/+��%A� 5 6p��% eO &����$ ( �B�������D &��4!1x &���D &�Dg)�# &%-FG��%+F = ��$ ,
FG��$ / � ( ��e&��6V��%+FJ�#$ , �D/+�84| 5 � ,  &FG��%-F+gD�D &4!1�PJ�.�#1� % (-, * ���N$ =-( %+��C ( �  &9+9 5 ��4D O�#�8$G%+��y 8 �D/+�84| 5
� ,  &FG�x &%: 5 6V���8�DgJ��% 9: O���#�84 (+5  &�Dg 1+ &� ,  &%A6 4!1: 5�5 ��%+FG�8%+F  &%-/ ( ��� =?(-5  &9+9 5 ��4D O�#�8$G%+�Dy'1 1+�
%+���D/ = $G� ���DFG�8���#�� O�#�8$G% 4D &%  &���8��� PJ1-�D% � ,  &FG��� $ =  FG�.eG�D% 9+�8�D4�� $ =  &%: O��$ , 6  &���p�! &�O�D%
$ eG���  9i������$V/ $ = ��� , �  &%+/ %+�D��/ �#$ * � 4D$ , 9: O���D/>gY &�t�����#1+� 4| O��� = $&� ��1+� ��� ( /-6 $ =
� (-, $G�NFG��$ P �#1 r �&y F+y.g 5 $G%+FG�.� ( /+�8%: 5 ��� ( /+�����!sIgO$G�N��% =?( %+4I�#��$&%: 5A,  &FG%+�I�#��4c���D��$G%: &%+4��B� ,  &F&��%+F
r = 8 } � s��;� ( /+�8�D��y � % = 8 } � �;� ( /+�8�D��g ,  &%A6 ,  &F&%+������4 ���D��$G%: &%+4�� r 8 } s�� ,  &FG���S &��� �! &�O�D%
$ = ��1+� * �� &��% ��% C ( ��4!� � ( 4�4D�������8$G% g  &%+/_%-�D�D/_��$ * �~����FG���;�#�����D/ �#$  {1+��FG1-�D� ���D��$ 5�( �#��$&%
 &%: "�#$ , ��4S� ,  OFG�&g-PJ1-��4!1~�8�J��%�� ( ��%~���DFG�8���#������/x�#$  &%~ O� 5  &� � ,  &FG�Oy } ��FG���;�#�# "�#��$&%�4| &%~ 5 ��$
* � ( ���D/ �#$ 4!1: &�# O4��#����� 6D�t%+$G� ,  5 e&�D��� ( �  * %+$G� ,  5  &%: O��$ , ��4| 5 ��1+ &9i� eO &���� O�#�8$G%+��y 2:$G�
� o  , 9 5 �&g � (-, $G��� ,  6 * �0���DFG�8�����D����/ �#$ %+$G� ,  5 $G�H * %-$G� ,  5 � (+, $G���SPJ�.�#1+�8% �#1+�0�� , �
4 5  &����y � �#1+���  &9+9 5 ��4D O�#�8$G%+�\��%+4 5�( /+� 5  * � 5 ��%+F� &%+/ ����F , ��%A�! O����$G% g&��% PJ1+�84!1 ��1+� � ,  &FG� �#$ * �

m
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5  * � 5 �D/��O����F , ��%A�#�D/ ���L���DFG�8�����D����/ �#$S �9+���IeV��$ ( � 5 6 5  * � 5 �D/��O����F , ��%A�#�D/ � ,  &FG� r ��1+���  O� 5  &��� sIy
1 1+�8�  "� 5  O�E����FG���;�#�# "�#��$&%�4D����4 (+, eG�D%A��� ��1+�H%+�D��/ = $G� � o 9 5 �84D�8� 5  * � 5 ��%+F �"���DF , ��% �# O�#�8$G% y
1 1+�H� ,  &FG��� �#1+ O�J%+�D��/t��$ * �Y4�$ , 9: &����/ ,  |6  5 ��$ * �Y$ * �! &�8%+�D/ ( ����%+F /+�45>������% �E1: &��/ /

PB &���x/+��eV��4��D��g �D &4!1 1+�8FG1 5 �8FG1A�#�8%+F  {��9i��4D� @ 4~9: &�;� $ = �#1+� * $V/-6 r ��1+�D��� � ,  &FG���  &���~ 5 ��$
��� = �D�����D/ ��$  &� , (+5 �#� /7, $)/: 5 �8�76p� ,  &FG���!s y n[o  , 9 5 �D�S$ = 4�$ ,p, $G% , (+5 ��� / , $V/: 5 �8�76p� ,  &FG�D�
��% , ��/+��4D 5 � ,  OFG��%+Ft��%-4 5�( /+� M $ , 9 ( ���D/ 1\$ , $&FG�# &9-1 6 r M 1 s g � / �# |6{� ,  &FG��%-F+g K $G���.�#��$G%n , �8������$G% 1 $ , $GF&�# &9+1A6 r K n 1 s �7,  OFG��%+F-g  O%+/ h ( 4 5 �| &� 8  &F&%+������4p} ����$G%: O%+4D� r h 8 } $&�8 } s �7,  OFG��%+F-y � = �#1+�����H� ,  &FG���E &���S����FG���;�#�����D/>g-�#1+�I6�4| O% * �S4�$ , * �8%+�D/��8%  , $G��� , �| &% /
��%-F =?(+5 PB 6 ��$~9+��$feV�8/+�  &%{��%A�#��FG�# "�#�D/ eV���IP r � ,  &FG� =?( ����$&%3sIy�� 9+9 5 �84| O����$G%-�S�#1: O����%Ae&$ 5 e&�
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9+�.� =  585 �0��%Ae&$ 5 e&�D/ ��% = �| O� ( ���~��� 5 �D4I�#��$&% y �Y�D$ , �I�#���84| 585 6&g P � , $)/+� 5 ��1+�x���# &%-� = $G� ,  O����$G%
PJ�8��1  5 $V4| 5  32 %+� , $V/+� 5  &%+/  F 5 $ *  5 � , $)$O�#1+%+����� 4D$&%+�����# &�8% �Dy � %A�#��%+���.�76 eO &���� O�#�8$G%+�
 &���~� o 9 5 ��4��8� 5 6 , $)/-� 5 ��/ PJ�.�#1 5 $)4D 5 4!1: &%-FG�D� �8% * ����F&1 ��%+�D���� &%+/ 4D$G%A���# &�;�� &%+/_ {F 5 $ *  5
� , $V$&�#1+%-�D��� 4�$G%+�����# &�8%A�|y 1 1+�D��� , $)/-� 5 9: O�# , �����D���  O��� ��� , (+5 �# &%+��$ ( � 5 6 ������� ,  O�#��/  "�
�| O4!1 9+� o � 5 �8%���1+� � ,  &FG�&g" 585 $ PJ��%-F ( �\��$�4| O9-� ( ��� %-$G% 5 �8%+�| O�\/-������$G������$G%-� r ��% * $O�#1�FG�D$ , ������6
 &%+/p��%A�#��%+���.�76-sIy[z{� � , 9 5 $ 6  ����# &%+/: O��/ 8 ' n ������$G� , �������84 $&%p�#1-� �8% ���D%+���8�76 eO 5�( �D�Dy 1 1+�
, ��%+� , � 6| O����$G% ��%Ae&$ 5 e&�D�S�7P $x�;�#�D9-�Dy02L�8���;�H &% �D����$G� =?( %+4�����$G% �#1+ O�Y��� 5 ��%-�| &� ��% �#1-� , $V/+� 5
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9: &�� , ���#����� ��� , ��%-� , �76D��/ ( ���8%+F 5 �D &��� / ��C (  &�����Dy#1 1+�8���D����$G� =?( %+4I�#��$&% ��� �#1+��%  ( F , �D%A�#��/
PJ�8��1  %+$G% 5 ��%+�D &� � , $V$&��1+%+�D����4D$G%-���#�� &��%A�Dg� &%-/ ��1+� 5 �D &��� / ��C (  &��������$ 58( �#�8$G%_��� ( ����/ ��$
* $)$&�������# &9t &%t�8���D�# "�#�8e&�Y%+$G% 5 ��%+�D &� , ��%+� , � 6| O����$G%>y 1 1-���J�D%A�#�8���H9+��$)4��D/ ( �����8� *+( � 5 � ( 9u$G%x 
/+�45>�����D%A���< 5N, (+5 �#�8��4| 5 � = �# , �IPB$G���3g  585 $ PJ��%+F ( � �#$p4| &9-� ( ��� * $&��1 5  &��FG� /  &%+/ � ,  5854/ ��4| 5 �
�#�� &%+� = $G� ,  O�#�8$G%+��gB�����  5 ��$ � � � g � l � = $G�p��� 5  O�#��/ ���D4!1+%+�8C ( �D��y �����# &� 5 �p$ = $ ( �p���D4!1+%+�8C ( �
* �DFG�8% �8% M 1+ &9-�#��� j y wB� = $G������1+��� /+�I�! &� 5 �D/ /+����4�����9)�#��$&% g P � @ ���;� � o 9 5 $G���t��$ , �t$ = �#1-�
�| O� 5 �8�D�BP $G���� &%+/t��$ , �S�#��4!1+%+�8C ( �D� ( ���D/t��% ���DFG�8���#�� O�#�8$G% y
v]w���w�� � z�.0	��4z���� �����

� %{��1+���H���D4�����$G%>g\P �p� o 9 5 $G���p��$ , � $ = �#1-� ��$)$ 5 �H &%+/ ��/+�D &��4D$ , , $&% 5 6x� , 9 5 $ 6&�D/ �8% ���DF /
���;�#�� O�#�8$G% y 1 1-�D��� ��$)$ 5 �S O��� $ = �#�D% 4�$ , * �8%+�D/xPJ�8�#1~$&�#1+�����#��4!1+%+�8C ( �D�Y�#$ = $&� ,  4D$ , 9 5 ���#�
����FG���;�#�� O�#�8$G%  5 F&$G���.�#1 , y
� � �%��� � ��	�� 	 +���� � ��	*���3' �!�� 
1 1+�H9+����%+4���9: 5  o �D�E���# &%+� = $G� , ���J 5 ��$0� %+$ PJ%x &�E�#1+��� &	� ��
�
 !�
  �#�# O%+� = $G� , $G��� ��������
 ��
��
� &���� � �#�� &%+� = $G� , gf &%+/H��� ( ���D/H�#$  5 ��FG%�� ,  &FG�D�iPJ1+�D��� ��1+�cFG��$ , �I�#����4[/+�8����$G������$G%Y�8�k &��� (+, �D/
�#$ * �  ����FG�8/ /7* $V/-6 �#�# O%+� = $G� ,  "�#��$&% r � y �&y.g �#�� &%+� 5  O����$G%+�S &%+/ ��$&�# O�#�8$G%+�!s y �Y�8eG��%  ���$ ( ��4��
� ,  &FG�

f (x, y)
 &%-/x 0�! O��FG�I�J� ,  &FG�

g (x, y)
g-�#1-��� , $)/+� 5 �! O�&�D�J�#1-� = $&� , q

f(x, y) = g((x cos θ + y sin θ) − tx, (−x sin θ + y cos θ) − ty).
r 4 y j s

1 1+�H�#�� &%+� 5  O�#�8$G%���� F&�8eG��% * 6
(tx, ty)

 &%+/ �#1+�H��$O�! O����$G%  &%-F 5 �Y�8�
θ.
� % �#1+�8�E�#�D4!1-%+��C ( �Ogu��1+�

9+� o � 5 � r $G� = �| "� ( ���D�!s[$ = �D &4!1p� ,  OFG�  &��� , $V/+� 5 �D/0 O� 9u$G�8% ���[��%  &%0� 5�5 ��9+���&gG4!1: O�# &4I�#�D���76��D/ * 6
 , �| &%x9i$&���8����$G%t$G� 4D�D%A����$G�8/

~m
g  5 $G%+F PJ�8��1x�#1-� ,  
 $G�� O%+/ , ��%+$G�  o ���Dy�1 1+� /+���;�! &%+4��

* ���7P �D�D% �#1+� 4��D%A�#����� $ = ��1+�0�7PB$t� 585 ��9-���D� r 4D$&��������9u$G%+/+�8%+F��#$ �#1+� �7P $~� ,  OFG�D�#s FG�8e&�D�Y�#1-�
�#�� &%+� 5  O����$G% guPJ1+� 5 � �#1-�p O%+F 5 � * �I�7PB���D%{��1+�D�8� ,  
 $G�Y o ��� r �#1+�09-����%-4D��9+ 5  o ���!sSFG�8e&�D�Y�#1-�
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 &%+F 5 � $ = ��$&�# O�#�8$G% y 1 1-� 4��D%A�#��$G��/
~m
 &%-/ ( %+�.�ceG��4��#$&�

~u
��1: O� 4D$G��������9u$G%+/+� �#$H�#1+� /+�8���D4I�#�8$G%

$ = �#1+�x9+���8%+4D�89: 5  o �8�p$ =  ����%+F 5 � � 5�5 ��9+��� ��� 4D$ , 9 ( ���D/  &� = $ 5�5 $ PJ��y � ���
~xi

/+��%+$&���x�#1-�
4D$V$G��/+��%: "�#�D� $ = = �D O� ( ���

i
y 1 1+��4��D%A�#��$G��/

~m
$ = ��1+��� 5�5 �89+���J�8� 4�$ , 9 ( �#��/� &� ��1+� , �| O% $ =

~xi

q
~m =

1

n

n
∑

i=1

~xi ,
r 4 y m s

PJ1+�����
n
���H�#1+� �#$&�# 5 % (+, * �D� $ =E= �| O� ( �����Dy z �p%+� o � %+�D��/ �#$ @ %+/ �#1-� e&�D4���$G�

~u
�8%{��1+�

/+�8���D4I�#�8$G% $ = ��1+� 9+����%+4���9: 5  o �8�Dy � �I�
~yi

/+�D%-$&�#�~��1+�~������$ = 9i$G�8%A�#�
~xi

PJ�8�#1 �#1+� , �D &%
� (-* �#�� &4����D/ q

~yi = ~xi − ~m
y 1 1+� eG�D4I�#$G�

~u
4�$G�����D��9i$G%-/+��%+F �#$ ��1+�{9-����%-4D��9+ 5  o ����g * 6

/+� @ %+�8����$G%>g\1+ &����1+� 9+��$&9i�����76 �#1+ O� �.� ,  o � , � 6D�����#1+� eO &���� &%+4�� $ = �#1-�p9+��$ 
 �D4I�#�8$G%{$ = �#1-�
9u$G��%A�#�

~yi

$G%A��$��.�|y 1 1-��9+��$ 
 �D4I�#��$&%p$ =
~yi

$G%A�#$H�#1+�JeG��4���$G�
~u
��� FG�8e&�D% * 6uq ( ~yT

i ~u

~uT ~u

)

~u
yLz{� 4D &%

PJ���.�#�H &%t�D����$G� =?( %+4�����$G%
E (~u)

�#$ � o 9+���D��� �#1+�YeO &���< &%+4��S$ = �#1+�H9+��$ 
 �D4I�#��$&%+�J &� = $ 5�5 $ PJ�Dq

E (~u) =
∑

i

[(

~yT
i ~u

~uT~u

)

~u

]2

=
∑

i
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~yT
i ~u

~uT~u

)

~u

]T [(
~yT

i ~u

~uT~u

)

~u

]
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~uT
(
∑

i ~yi~y
T
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)

~u

~uT~u

=
~uTCyy~u

~uT~u
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� %x��1+��� �DC (  "�#��$&% g

Cyy

��� ��1+� 4�$feO &���< &%-4D� ,  "�#��� o $ = �#1+��9i$G�8%A�#�
yi

y 1 1+��� =?( %+4I�#��$&%~4| O% * �
,  o � , �76D��/ * 6x/+�45>�����D%A���< O����%+F

E (~u)
PJ�.�#1~���D��9i��4��S��$

~u
gi�������#��%-Fp�#1-� ����� (+5 � ��$ 6D����$+g> &%+/

��$ 5 eV��%+F = $&�
~u
 &� = $ 585 $ PJ�Dq

∂E (~u)

∂~u
=

2Cyy~u

~uT~u
− 2~uTCyy~u

~u

(~uT~u)2 = 0.
r 4 y	�&s

}J�| &���# &%+F&��%+F ���D� , �E6V��� 5 /+��q
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Cyy~u =

(

~uTCyy~u

~uT~u

)

~u

= E (~u) ~u.
r 4 y67As
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, ( �;�E4�$G�����D��9u$G%+/���$0 &%��D�8FG�D%Ae&�D4���$G�E$ =
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%+$&���  5 ��$ ��1: O�
E (~u)

, ( ��� * �  &% ����FG��%Ae& 5�( �x$ =
Cyy

y!1 1 ( ���#1+� ,  o � , (+, eO 5�( �x$ =
E (~u)

4�$G�����D��9u$G%+/-� ��$��#1-� 5  &��FG����� �D�8FG�D%AeO 58( � $ =
Cyy

g- O%+/p��1+� 4�$G�����D��9i$G%-/+��%+F��D�8FG�D%AeG��4���$G�
���

~u
y � % � (-,p,  &��6&g\��1+� ����FG��%AeG�D4I�#$G�

~u
4D$G�����D��9i$&%+/+��%-Fx�#$t�#1+� 5  &��FG�D�;� ����FG��%Ae& 5�( � $ = ��1+�

4D$ eO &���< &%+4�� ,  O�#��� o
Cyy

�8� �#1-�Y9+���8%+4D�89: 5  o ���E$ = �#1+�S� 5�5 ��9+���&g PJ1+��4!1�FG�.eG��� ( �B�#1-�S/+�����D4I�#��$&%
$ =>,  o � , (+, eO &���< &%-4D�&gV &%-/p�#1-� , �| &% $ = �#1+� 9i$&��%A�#�

yi

FG�.eG�D� ( � �#1+� 4D��%A�#�D� $ = ��1+� � 5�5 ��9+���&y
� %+4D� P � @ %+/0�#1+�J4D��%A�#��$&��/+�  &%-/ 9-����%-4D��9+ 5  o ��� = $G�[�#1+�E�7P $�� 5�5 ��9+���D�[4�$G�����D��9i$G%-/+��%+FS��$

* $&�#1p� ,  &FG�D��gA�#1+� /+� 5i�D���D%+4�� * ���7P �D�D%���1+��4��D%A�#��$G��/+� FG�8e&�D� �#1+� /+�D�������D/ ���# &%+� 5  O����$G% eG��4���$G�
(tx, ty)

g PJ1-� 5 �t�#1+�  &%-F 5 � * �I�7PB���D% ��1+� 9+����%+4���9: 5  o �D��FG�.eG��� �#1+� /+���������D/  &%+F 5 �&y 1 1+�8�
�#��4!1+%+�8C ( � ���  &%+ 5 6 �#�84| 5  &%+/x��� , 9 5 ���#$ 4D$ , 9 ( ���&y 1 1+� ,  &��%�/-�# |P *  &4!� ��� ��1+����� , 9 5 �84D�.�76
$ = ��1+� , $)/-� 5 y wB��4| ( ���0$ = ��1+����gu��1+�����D4!1+%+�8C ( �0���JPJ��/+� 5 6 ( ���D/ ��%~���DF&�������# O����$G%t9+��$ *+5 � , �
�#1+ O�Y/+$ %+$&�S���DC ( �8���01+�8FG1 /+��FG�����D�H$ =  &4D4 ( �# O4�6Ggk$&�SPJ1+�D% �#1-�0/+���;�#$G�;�#��$&% ���S��� , 9 5 �Oy.1 1+�
�#��4!1+%+�8C ( � ,  |6 * � ( ����/  &�  4�$A &�����t &9+9+��$ o � ,  O����$G% $G�09+��� / 9+��$)4��D������%-F �;�#��9 = $G�0$O�#1+���
, ���#1-$)/+��y
% �(���
����	 �
���#�-� ��	������  "	 �
� ���%���

M $G����� 5  O�#�8$G% / *  &����/  &9-9+��$A O4!1+�D�J &����$ = ���D% ( ���D/ = $G� �#� , 9 5  O�#� ,  O�#4!1+�8%+F $G� 9: O���#�D��% ����4D$GF /
%+�.�#��$&% ��% PJ1+�84!1 ��1+� 5 $V4| "�#��$&% r ���# &%+� 5  O����$G%:s $ =  �#� , 9 5  O�#� $G�S9: O���#����%

fs (·)
��� = $ ( %-/ �8%

 &% � ,  &FG�
ft (·)

y 1 1+� , $)/+� 5 ( ���D/~�8% �#1+�8� 4| &�����8�Dq

fs (x, y) = ft(x − tx, y − ty).
r 4 y � s

4 �



1 1+� ���# &%-� 5  "�#��$&%x9: O�# , �����D���
(tx, ty)

 &����/+�����D� , �8%+�D/ * 6 @ �����SPJ���8�#�8%+Fp C (  &/+�� O�#�84�������$&�
=?( %+4I�#�8$G% ��%

tx
 &%+/

ty
q

E(tx, ty) =
∑

x,y∈Ω

[ft(x − tx, y − ty) − fs(x, y)]2

=
∑

x,y∈Ω

ft(x − tx, y − ty)
2 +

∑

x,y∈Ω

fs(x, y)2 −

2
∑

x,y∈Ω

ft(x − tx, y − ty)fs(x, y).
r 4 y 8Gs

PJ1+����� �#1+� � (+, ���H$ eG�D�H�#1-� ��9: O���< 5 � ( 9+9u$G���
Ω
$ =

fs (·) .
1 1+�8��������$G�YPJ� 5�5L* � , ��%+� , � 6D�D/

PJ1+��%
C (tx, ty) =

∑

x,y∈Ω

ft(x − tx, y − ty)fs(x, y)
r 4 y �Gs

��� ,  o � ,  5 gDPJ1-�D���
C (·)

���\/+� @ %-�D/  &�N�#1+� 4D$G����� 5  O����$G%H4D$V�(2 4����D%A�Dy 1 1+� ,  o � , (+, $ =
C (·)��� �#1+����� = $&���  ���D &��$&%: *+5 �0 &9+9+��$ o � ,  "�#��$&%x�#$ ��1+� , ��%+� , (+, $ =

E (·)
y*1 1+�8�S�#��4!1+%+��C ( �0�8�

��� = �D�����D/���$  &� � 
�
 & ��� � 
 !�� ����� & �"� ��
 � � ! & 
 g � � � � ������� 
 � � � !�
  $&� � �	��� 
 � � �
� � � � � !�
  �� 1 1+�
4D$&����� 5  O����$G% 4�$)� 2 4D����%A��4D &% * � �(2 4����D%A� 5 6 4�$ , 9 ( �#��/ = $G�H 5�5 9u$G����� *-5 � �#�� &%+� 5  O����$G%+� ( ���8%+F
2:$ ( �����D� ���D4!1+%-��C ( �D� � j&l � y_h $&���t��1: O� �#1+� , $)/+� 5 ( ����/_���0��$)$ ��� , 9 5 ���;�#��4 = $G�  FG��%+�D�� 54/
9 ( ��9i$&��� ���DFG�8�����# O����$G%  5 FG$G���.�#1 , gN &%+/{���H�76V9+��4D 5�5 6 ( ����/ $G% 5 6 = $G�� x��$ ( FG1  5 �8FG% , �D%A�H$ =
� ,  &FG���Dy nLo ���D%+����$G%-�[�#$Y4D$&9i�BPJ�.�#10��$&�! O����$G%-�[ &%+/0��4| 5 �E4!1: &%-FG�D�c1: |e&�  5 ��$ * ���D%09+��$G9i$&���D/>g
*+( �H��1+�D���  &��� ���D%-���8���8e&� ��$t$O�#1+���H�76V9u�D��$ = /-������$G������$G%-�Dy0� �#��4!1+%+��C ( � �#1+ O����%+4�$G��9u$G�# "�#�D�
��$O�! O����$G%+� *  &���D/ $G% �#1+� , ����1+$V/ $ = ��� M  &������$  &%-/ 8 $G�# O%+/+� � j&l � �8�p�8%+4D$G��9i$&�# O���D/_�8%
$ ( �H�D &� 5 ���D�SP $G�����67 l � y 1 1+� *  &���84 , ����1+$V/{4D &%  5 ��$ * � � o �#�D%-/+�D/ ��$x/+�I�#��4���4!1: &%+FG��� �8%
��4D 5 � r 2:$ ( �����D� / 8 � 5�5 ��% 1 �� &%+� = $G� , sIy M $ o ���H 5 y � j&m � 1: |eG�0� , 9 5 � , �D%A�#��/  ���| 50/ �#� , � m / �
����FG���;�#�� O�#�8$G%  5 F&$G���.�#1 , = $G�J��1-� = �#�J O%+/x��$&�! "�#��$&%+� *  &���D/t$G%t��1+�YPB$&����$ = n /+/-6 ���  5 y � j � � g
( ���D/~�8% �#1+� = 8 } � 9+ &4!�" &FG�H�S2[h � y
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' $ , �H����FG���;�#�# "�#��$&% ���D4!1+%-��C ( �D� � , 9 5 $ 6  O%x������$&� =?( %+4�����$G% �#1: "� � , 9 5 ��4��8� 5 6 1: &%-/ 5 ��� eO &���< /
�#�8$G%+�c$ = 4D$&% ���# &�;�E O%+/ * ���8FG1A�#%+�����Dg �#1-� , $G�;� 9i$G9 (+5  &� * �D�8%+F , ( � (  5 �8% = $G� ,  O����$G% y 8 ( � (  5
��% = $G� ,  O�#�8$G% �8�  , �D &� ( ���H$ = ��� , � 5  O���8�76 /+�����.eG�D/ = ��$ , ��% = $G� ,  "�#��$&% �#1+��$G��6 � jGj g � 4 � y 1 1+�
, ( � (  5 ��% = $G� ,  "�#��$&% * ���7P �D��%t�7P $ �# &%-/+$ , e& O���< *+5 ���

X
 &%-/

Y
���EF&�8eG��% * 6

I(X; Y )
 &%+/

����/+� @ %-�D/{ &�S�#1+�0��� 5  O�#�.eG� ��% ����$G9A6 * ���7P �D��%{��1+� 
 $G��%A�Y9-��$ *  * � 5 �8�76 /+��%+���.�76
p(X, Y )

 &%+/
�#1-��9-��$V/ ( 4�� $ = �#1-� ,  &��FG��%: 5 9+��$ *  * � 5 �.�76 /-�D%+���8�#�8�D�

p(X)p(Y ) :

I(X; Y ) =
∑

x∈X

∑

y∈Y

p(x, y) log2

p(x, y)

p(x)p(y)
,

r 4 y 4 l s
PJ1+�����

x, y
 &��� �#1-� /+�8��4�������� eO 58( �D�\$ = ��1+� �# &%+/-$ , eO &���� *+5 ���

X, Y.
� %��#1-� 4�$G%A�#� o �L$ = � ,  &FG�

����FG���;�#�� O�#�8$G% g&��1+�J� ,  &FG�D� �#$ * �J���DFG�8���#������/  &���J &��� (+, �D/p��$ * � �#1-� 9-� o � 5 �8%A�#�D%-���8�������c/+�# |PJ%
= ��$ , ��1+���� &%+/+$ , eO &���< *+5 �D�

X
 &%-/

Y

 ��1 ( �

x, y
���D9+���D����%A� �#1+�S�� &%+FG� $ = 9+� o � 5 �8%A�#�D%-���8�������

/+�� PJ% = ��$ , �� &%+/+$ , ��1+� eO &���< *-5 �D�
X, Y

yLz 1+��% �7P $ � ,  &FG���  O��� ��% 9u�D� = �D4I�E����FG���;�#�� O�#�8$G% g
�#1-�D��� , ( � (  5 �8% = $G� ,  O����$G% , �| &� ( ��� ��� ,  o � , �76��D/ y } ��FG���;�#�# "�#��$&% �8�H9i��� = $G� , ��/ * 6 @ ���;�
� o 9+���D������%-F���1+�E4!1+$G���D% , $V/+� 5 r �Oy F-y8gA��$&�! O����$G%-�DgO���# &%-� 5  "�#��$&%+�!s ( ���8%+FS�#1+�8�[�D����$G� , �I�#���84&gA O%+/
�#1-�D% ,  o � , �76���%+FB��1+���N������$&�\PJ�.�#1 ���D��9i��4��L��$ ��1+� , $V/+� 5 9: O�# , �����D����y 8 ( � (  5 �8% = $G� ,  O����$G%
9+��$feV�8/+�D�� ,  O�#1-� ,  O�#�84| 5 *  &���8� = $G�J1: O%+/ 5 �8%+F , (+5 �#� / , $V/: 5 �8�76 � ,  &F&�D�J/+�����D4I� 5 6&y � %~$&��/+���
�#$ $ * �! &�8%tF&$)$V/ �D����� ,  O�#��� $ = �#1+� , ( � (  5 �8% = $G� ,  O����$G% g 1+$ P ��e&�D�Dgu�8�J�8� %+�D4��D���# &�;6t��$p1+ e&�
FG$V$)/0������� ,  O�#���c$ = �#1+�J9+��$ *  * � 5 �.�76�/-�D%+���8�76 =?( %-4��#�8$G%+�

p(x), p(y)
$ = �#1+� �� &%+/+$ , eO &���� *+5 �D�

X
 O%+/

Y
g- &%-/ �#$�1: |eG�SF&$)$V/p������� ,  O�#��� $ = �#1+� 
 $G��%A� 9+��$ *  * � 5 �.�76 /+��%+���.�76

p(x, y).
1 1 ( ��g+ 

5  O��FG��% (+, * �D�S$ = /: O�! p9i$G�8%A�#�S O��� ���DC ( �8���D/>g ,  O�V�8%+F �#1+� , �| O� ( ��� 5 �����Y O4D4 ( �# O��� ��% 5 $V4| 5
����FG��$&%+�Dy[� %+$&��1+�D� /+�� |P *  &4!� �8�B�#1+ O� , ( � (  5 ��% = $&� ,  O�#�8$G%p�8�B4�$ , 9 ( �! O����$G%+ 5�5 60� o 9u�D%+���8eG�Oy
}J�DFG�8���#�� O�#�8$G% , �I�#1+$V/+� �#1+ O� ( ��� , ( � (  5 ��% = $&� ,  O�#�8$G%���%+4 5�( /-�H��1+$G��� * 6 �S�8$ 5  0�I�S 5 y � � 4��
 &%+/ M $ 585 ��%-FG%+$G% �I�  5 y � j 4 � y
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���#�8  &%A6�9-�# &4I�#��4D 5 ���DFG�8���#�� O�#�8$G% �# &��� � ���DC ( �8���Y�����#� ,  "�#��$&% $ =  %-$G% / ����FG�8/ ,  &9+9+�8%+F * �I�7PB���D%
� ,  &FG���Dy � %-�S�����# &�8FG1A� = $G�;PE &��/  &9-9+��$A O4!1 = $G� %-$G% / ����FG�8/p���DFG�8�����# O����$G% ��� �#$ ��9 5 �.� ��1+�S��$ ( ��4��
 &%+/p�! &��FG���B� ,  &FG�D� �8% ��$ �#� 5 ��� $ = �DC (  5 ���76��&g- &%+/ �����#� ,  "�#�  ���8FG��/ ,  O9+9+��%-F * ���7P �D��%t�D &4!1
�#� 5 �t��%+/-�D9u�D%+/+��%A� 5 6&y 1 1+� 9+ &�# , �����D�p�D����� ,  O�#��� = $G�p�| &4!1_��� 5 �~ &���x�����| "�#�D/  O�  4�$A &�����
�# , 9 5 ��%+F�$ = ��1+�J����FG���;�#�# "�#��$&% ,  O9 g  &%+/ ��%A���D��9u$ 5  O�#�8$G% r ( ����%-F� Y� , $V$&�#1 =?( %+4�����$G% gA� ( 4!1  O�
�#1-��% / 9 5  O���S��9 5 ��%-�D�!sB�8� ( ����/x��$ $ * �! &�8% �#1+� =?(+585 ����FG���;�#�� O�#�8$G% ,  &9t O�J��e&�D��6t9+� o � 5 5 $)4D O�#�8$G% y
� , (-5 �#�8��4D 5 �t &9+9-��$A &4!1 4D &%  5 ��$ * � ( ����/ g ���! O���#�8%+F ��1+�~�#� 5 �8%+F  "�� 4D$G &����� ��4D 5 �  O%+/
��� @ %+�8%+F �#1-�0���D� (+5 ���Y O��1+��FG1-�D����4| 5 �D��y�� $G����� 5 �D4 �I�H 5 y � �
7 � ( ���0��9 5 ��%+��9A6)�� , ��/+� = $G���#1-�
1+�8�D�# O��4!1+�84| 5 ��4!1-� , �&g+ O%+/ �D�;�#� ,  O���� ����8FG��/ �#�� &%+� 5  O�#�8$G%  &%+/ ��$&�! "�#��$&%p9: O�# , �����D� = $G� �D &4!1
�#� 5 �Og ( ����%-F0wB$V$G� ���#����%�� �B��1+��% / 9 5  "�#� ��9 5 ��%+��� = $G� �#1+�S�8%A�#�D��9i$ 5  O����$G% y K ������ &��PB , 6p���J 5 y � 7 l �
( ���S�#� 5 �D� $ = /+� 5i�D���D%A� ���76D���Dg ( ����%-F0 02:$ ( ���8�D� �#��4!1+%+��C ( �Y��$ �D�;�#� ,  O�������8FG��/ �#�� &%+� 5  O�#�8$G%  O%+/
��$O�! O����$G% 9: &�� , �I�#�����E "�E�| O4!1 �#� 5 �&y 1 1+�D�����#��4!1+%+��C ( ���J &��� �����# &�8FG1A� = $G�;PE &��/p��$ � , 9 5 � , ��%A�|g
*+( � 1: |eG�B /-�# |P *  &4!�3qL����%+4�� ��1+� �#�# O%+� = $G� ,  "�#��$&%+�N &��� �����#� ,  "�#�D/� O�\�| O4!1 �#� 5 �c��%-/+�D9u�D%+/-�D%A�
$ = ��1+��� ( ����$ ( %-/+��%+Fp�#� 5 �D��g:�8� ���J9i$&����� *+5 �H�#$pFG��� %+$G% / � , $V$&�#1 * ��1: |eV��$G� * �I�7PB���D% ��1+����� 5 ���Dg
PJ1+�����H�#� 5 �D� , �D�I�|y 1 1+������ &����� =  &4I�#�  &��� ( %+/+�������� *+5 �&y
� 	�� �%� ' 0����
�
���!� 	�� ���
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� %+�Y/+�� P *  &4!��$ = �#1+�Y9+����eV��$ ( �J%+$G% / ����F&��/ ���DFG�8�����# O����$G%���4!1+� , � r , ���#1-$)/�$ = �#� 5 ���!s �8�B�#1: "�
�#1-�D���J�8�[%+$YPE |6 ��$H� , 9i$G���E� , $V$&�#1+%-�D���c$ = ��1+� ����FG���;�#�# "�#��$&% ,  &9 * ���7P �D��%p��� 5 � * $ ( %+/: &�������
r ����%+4�� �D &4!1~�#� 5 �H���J�#���| O���D/ �8%+/+��9i��%+/+�D%A� 5 6-sIy � %+�  O9+9+��$G &4!1~�#1+ O�S |e&$G��/+� �#1+�8� 9-��$ *+5 � , �8�
�#1-��� ��� !���� ��
 � � ! & 
  &9+9+��$A &4!1 y � %_�#1-���� &9-9+��$A O4!1 g ��1+� ��$ ( ��4�� 4D$V$G��/+�8%: O���D�

(x, y)
FG�I�#�

,  &9+9u�D/ ��%A�#$0��1+�H%+��P 4D$V$G��/+�8%: O���D�
(x̂, ŷ)

* 6� *  O����� =?( %+4�����$G%t &� = $ 585 $ PJ�Dq
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Source Target Source Target Source Target Source Target

STAGE 1 STAGE 2 STAGE 3 STAGE n

Determine rigid
translation and

rotation parameters

Translate, rotate
test image

Determine rigid
translation and

rotation parameters

Mold Image

Determine rigid
translation and

rotation parameters

Mold Image

Determine rigid
translation and

rotation parameters

Mold Image
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	 � 
��Q��� ��$%����, �
�9$% 1�#�."HP0:�"% 1'2�M�g<U:2�1$% #"�-H�
�#�[�
/2/2�����(-&� = �?���(<������% Y�("%7��
<UOm��$_�
�£E
���
	�� DFE

x̂ = ∆x +
N−1
∑

j=0

bjβj(x, y)
r 4 y 4 4 s

ŷ = ∆y +

N−1
∑

j=0

cjγj(x, y).
r 4 y 4 j s

PJ1+�����
∆x, ∆y

 &��� ��1+� = �#� �8%
x
 O%+/

y, βj(x, y)
���p�#1+�

j
��1 *  &���8� =?( %+4I�#��$&% = $G�p��1+�

x
/

/+� , ��%+���8$G%  O� 9u$G���.�#��$&%
(x, y)

 &%-/
γj(x, y)

��� �#1-�
j
�#1 *  O����� =?( %+4I�#��$&% = $G� �#1+�

y
/ /+� , �D%-����$&%

 O� 9u$G���.�#��$&%
(x, y)

y�1 1-� 4�$)� 2p4�����% ���B$G% �#1+����� *  &���8� =?( %+4�����$G%+�  &���
bj

 &%+/
cj

gV���D��9i��4����8eG� 5 6&y
1 1+� *  &���8� =?( %-4��#�8$G%+� ( ����/  &�����76)9-��4| 5�5 6 � , $)$&��1 r = $G� � o  , 9 5 �&g3�#1-� = 8 } � �#$V$ 5�* $ o '-K 8
( ���D�Y�#1+� 5 $ PB��� = ����C ( �D%+4I6 �#�D� , ��$ = ��1+�0� M 1 *  &����� =?( %+4I�#�8$G%+�!s y � %+�  O/-eO &%A�! &FG� $ = �#1+�8�
��4!1-� , � ��� �#1: "� � , $V$&�#1-%+�D��� ��� � , 9 5 ��4D�.� 5 6{� , 9u$G���D/ * 6 ( ����%+F{� , $)$&��1 *  O����� =?( %+4I�#�8$G%+�Dy
� %+� /+�8�# &/-eO &%A�# &FG� �8� �#1: O� �#1+� 4!1+$&��4D� $ =�*  &���8� =?( %+4�����$G%-� ,  |6 ���D�;�#����4�����1+�  585 $ PE *+5 �
/+� = $G� ,  O�#�8$G%+��y
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eV������$G% $ = �H &� 5 2:�����;�#$G%>y 1 1+�~���DF&�������# O����$G% 9+��$V4D��/ ( ��� ( ����/ ��% ')K 8 4�$G%+��������� $ = ��1+�����
�����D9+��y � % ��1+� @ ���;� �;�#��9 g- YF 5 $ *  5  32 %+� �#�# O%+� = $G� , ���c4�$ , 9 ( �#��/ ��1: O� ����FG���;�#�����c�#1+�J��$ ( ��4��
 &%+/ �! &��FG���p� ,  &FG� ��$  ��� , 9 5  O��� � ,  &FG� $ = ��1+�~�� , � , $)/: 5 �8�76&g ( ����%-F  h ��P ��$G% /75 ���O�
5 �D &��� / ��C (  &����� , ����1+$)/ � 8 � y � % �#1+������4D$G%+/x�����D9 g3�#1+�H� ,  &F&�D�J &�������DF , �D%A���D/  &4�4D$G��/+��%-F ��$
�#�8��� ( � �76)9u�D��q[FG�� 6 ,  "���#���DgGPJ1+�.�#� ,  O�����D�c O%+/p4��D��� * �� 54/ ��9+�8%: 5 ( ( ��/ y 1 1+�JFG�# |6  O%+/0PJ1+�8���
,  O�����D�[9: O���#�.�#�8$G%+�c &���J� o �#�� &4����D/ = ��$ , �#1+�J� ,  &FG��� ( ����%+F� , $V/+� @ �D/ , � o � ( ��� , $)/+� 5 4 5�( � /
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∑
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m7f(x, y, t) + m8 = f(m1x + m2y + m5, m3x + m4y + m6, t − 1),

r j y 4 l s
PJ1+�����

m7

 O%+/
m8

 &��� �7PB$ %+�IP r  5 ��$ ��9: O���< 585 6 eO &��6V�8%+F s�9: O�# , �����D��� ��1: O�0� , * $)/-6  
4!1: &%-FG� ��% 4D$G%A���# &�;�� &%+/ * ���8FG1A�#%+�����DgJ���D��9u�D4I�#�.eG� 5 6Gy h $&���x�#1+ O� ��1+�D��� 9: &�� , �I�#����� 1+ e&�
* �D�D%{��%A�#��$)/ ( 4D��/ ��%{ 5 ��%-�| &� =  &��1+��$&% y � � * � = $G���&gN�#1+�8��������$G� =?( %+4�����$G% ���� &9+9-��$ o � ,  O�#��/
PJ�8��1t @ ����� / $G��/+�D� ��� ( %+4D O�#��/�1  |6 5 $G�J�������8�D�J� o 9: &%-����$&%t��$ 6V�8� 5 />q

E(~m) =
∑
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[
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(
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(
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∑
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���Y��1+� 9+��$ *  * � 5 �.�76 $ =B, $V/+� 5

k
y ����� (+, � = $&����� , 9 5 �84D�8�76t�#1+ O� �8%{$ ( �

� o  , 9 5 �&g:�8�E���J�DC (  585 6 5 ���O� 5 6 �#1+ O� �#1+��9u$G��%A�#� 4D , � = ��$ , ���8��1+�D� , $)/+� 5 y[z{�� &��� (+, �H�#1-�
/+�8���#��� *+( �#��$&%+� $ = �#1-� ���D���8/ (  5 �B O������ ( ������ &% g PJ1+��4!1 5 �| O/+� ��$���1+� = $ 5�5 $ PJ�8%+FH9+��$ *  * � 5 �8�����D��q

p (Q = ~q(i)|M1) = e−(a1x(i)+b1−y(i))2/σ2
1 = e−r1(i)2

r j y m �As
p (Q = ~q(i)|M2) = e−(a2x(i)+b2−y(i))2/σ2

2 = e−r2(i)2 .
r j y 5 l s

d �����Og
p (Q = ~q(i)|Mk)

���L��1+�J9+��$ *  * � 5 �8�76H$ = $ * ���D�;eV��%+FH9u$G��%A�
~q(i)

 &��� (+, ��%+FS��1: O� �.�c4| , �
= ��$ , , $)/-� 5

Mk

gk &%-/
σk

���Y 4�$G%+���# &%A�� &%+/ ����9+��$G9u$G�;�#��$&%: 5 �#$ �#1-�  , $ ( %A�Y$ = %+$G�8���0�8%
, $)/+� 5

k
y�1 1-� 5 $&F /75 ���&� 5 �81+$)$V/ =?( %+4�����$G% r PJ1+�84!1 ��� �D &���8�D� �#$ ,  o � , � 6D� sL4D &% * �JPJ���8���#��%  &��q
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log L (M1, M2) = log
∏

i

p (Q = ~q(i))

=
∑

i

log (p (Q = ~q(i)))

=
∑

i

log (p (Q = ~q(i)|Q ∈ M1) P (Q ∈ M1) + p (Q = ~q(i)|Q ∈ M2) P (Q ∈ M2))

= log (P (Q ∈ M1)) +
∑

i

log (p (Q = ~q(i)|Q ∈ M1) + p (Q = ~q(i)|Q ∈ M2))

= c +
∑

i

log
(

e−(a1x(i)+b1−y(i))2 + e−(a2xi+b2−y(i))2
)

. ���
� ���

�

1 1+� 5  &��� �7P $ �DC (  O����$G%-�  &��� (+, � �#1+�x9+���8$G���
P (Q ∈ M1) = P (Q ∈ M2)

 &%-/
c =

log P (Q ∈ M1) .

� �#�,1��%��� ' �(�  "� ����� ��	*�
	� "� ��� ���

� % $G��/+��� �#$ /+�I�#�D� , �8%+� �#1-� , $V/+� 5 9: &�# , �I�#�D���
Mk = (ak, bk) ,

PB� ,  o � , �76��p�#1-� 5 $GF /
5 �8�&� 5 ��1-$)$V/ =?( %+4I�#�8$G% * 6 /+�45>������% ���< O����%+F PJ�.�#1t������9u�D4�� �#1+������9: &�# , �I�#�D���Dg:����������%+F �DC (  5 ��$
6D����$+g[ &%+/ ��$ 5 e&� = $G���#1+�p9: &�# , �I�#�D���Dyx��� 5i�D���D%A�#�� O�#�8%+F �#1+� 5 $GF / 5 �8�&� 5 ��1+$V$V/ =?( %+4I�#��$&%{PJ�8��1
������9u�D4I� ��$

ak

6V��� 5 /+��q

d log L (M1, M2)

dak

=
∑

i

−2x(i) (akx(i) + bk − y(i)) e−(akx(i)+bk−y(i))2

e−(a1x(i)+bk−y(i))2 + e−(a2x(i)+bk−y(i))2

=
∑

i

−2x(i) (akx(i) + bk − y(i)) e−r2
k(i)

e−r1(i)2 + e−r2(i)
2

=
∑

i

−2x(i) (mkx(i) + bk − y(i))wk (i) ,
r j y65 j s

PJ1+�����
wk(i) = e−rk(i)2/σ2

k

e−r1(x,y)2/σ2
1+e−r2(x,y)2/σ2

2
,
 &%-/ �8�S�#1+� 9+��$ *  * � 5 �.�76 �#1: O�H9u$G�8% �

i
* � 5 $G%+FG�S��$

, $)/+� 5
k
y � � 5i�D����%A�#�< "�#��%-F �#1+� 5 $&F /75 ���&� 5 �81+$)$V/ =?( %+4�����$G%�PJ�.�#1 ������9u�D4��J��$

bk

6V��� 5 /+�Dq
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d log L (M1, M2)

dbk
=

∑

i

−2 (akx(i) + bk − y(i)) e−(akx(i)+bk−y(i))2

e−(a1x(i)+bk−y(i))2 + e−(a2x(i)+bk−y(i))2

=
∑

i

−2 (akx(i) + bk − y(i)) e−r1(i)2

e−r1(i)
2
+ e−r2(i)2

=
∑

i

−2 (akx(i) + bk − y(i))wk (i) .
r j y65 m s

' �I���#�8%+F n C (  O�#�8$G%+� r j y 5 j s  O%+/ r j y 5 m sk�#$#6D����$H &%-/ ���| &���# &%-FG��%+F �#��� , �L6V��� 5 /+�L��1+� = $ 5�5 $ PJ��%+F
P �D��F&1 ���D/ 5 �D &��� / ��C (  O���D� 9+��$ *+5 � , q

[
∑

i x2
i · wk (i)

∑

i xi · wk (i)
∑

i xi · wk (i)
∑

i 1 · wk (i)

] [

ak

bk

]

=

[ ∑

i xiyi · wk (i)
∑

i yi · wk (i)

]

,
r j y 5 5 s

= ��$ , PJ1+�84!1t��1+� , $V/+� 5 9: &�# , �I�#�D���
ak, bk

4| &% * �Y/+�����D� , ��%-�D/x &�Dq

[

ak

bk

]

=

[
∑

i x2
i · wk (i)

∑

i xi · wk (i)
∑

i xi · wk (i)
∑

i 1 · wk (i)

]

−1 [ ∑

i xiyi · wk (i)
∑

i yi · wk (i)

]

.
r j y 5
�Gs

h $O�#�Y�#1: "� �#1+�8� �DC (  O����$G% ��� ��� , � 5  &� ��$ n C (  O����$G% r j y m 7As PJ�8��1+$ ( � ��1+�YPB����FG1A�#�
wk (i) .
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M1

 &%-/
M2

 5 $G%+F PJ�8��1x�#1-�
9+��$ *  * � 5 �.�76  &������FG% , ��% ��� = $G� �| &4!1 9u$G��%A� 4| &% %+$ P * �S� o 9 5  &�8%+�D/� O�E ��7P $0�����D9�9+��$)4��D���J O�
= $ 585 $ PJ�Dq

4 y � %+�.�#�� 5 � 6| O����$G% qJ� �����8FG% e& 5�( ��� = $&�S�#1+� @ o �D/{4D$G%+�;�! &%A���
σ2

1, σ
2
2

y ��������F&%{�8%+�8���< 5 �D�;�#� /,  O�#��� = $G�E�#1-� , $V/+� 5 9+ &�# , �����D���
a1, a2, b1, b2

y
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j y n /;' �#�D9>q M $ , 9 ( �#�S�#1-�HP �D�8FG1A�#��q
w1(i) = e−r1(i)2/σ2

1

e−r1(i)2/σ2
1+e−r1(i)2/σ2

2
,
 O%+/

w2(i) = e−r2(i)2/σ2
2

e−r1(i)2/σ2
1+e−r2(i)2/σ2

2
.

1 1+�8�J4D$G�����D��9i$&%+/+� �#$ �#1+�Y���DF , �D%A�# O�#�8$G% ���#��9 y
m y 8 / ' �#��9 q � ���J�#1+� P �D��F&1 ���

w1(i)
 &%-/

w2(i)
�#$��D�;�#� ,  O��� �#1+� 5 �D &��� / ��C (  &����� ��$ 5�( ����$G%-�= $G�

ak, bk

q
[

ak
bk

]

=

[
∑

i x2
i · wk (i)

∑

i xi · wk (i)
∑

i xi · wk (i)
∑

i 1 · wk (i)

]

−1 [ ∑

i xiyi · wk (i)
∑

i yi · wk (i)

]

.
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�#1-���c 5 FG$G���8�#1 , ���[F (  &�# O% ���D��/ �#$Y4D$&% e&�D��FG� �67 � gA�.�[��� � ( ��4D��9-�#� *+5 �B��$ 5 $V4| 5V, ��%+� ,  -y � %0$&��/+���
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�������# &�����D/ PJ�8��1 /+�45>�����D%A�����! O���#�8%+F 9u$G�8% ���Dy � % �#1+�8� ,  &%+%+���Dg * $&��1~�#1-� , $V/+� 5 9+ &�# , �����D���
4| O% * � = $ ( %-/{ 5 $G%+FpPJ�8�#1  @ �H$ = ��1+�0/: O�# -y � % �#1-�0%+� o ������4��#�8$G% g P � � o 9 5  O��% 1+$ P��#1+�8�n98  5 FG$G���8��1 , �8� � , 9 5 $ 6&�D/��#$ /+�| 5 PJ�8��1x���DFG�8���#�� O�#�8$G% �8% ��1+�H9+��������%+4D��$ = 9+ &�����< 5 /: O�! )y
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 &%+/ @ %-/ ��1+� , $V/+� 5 9: &�� , �I�#�����S�#1+ O� @ �H�#1-�0/: O�! )y � % �#1+�8�Y���D4I�#�8$G% g P � ��1+$ P 1+$ P��#1+�8�
9+��$ *+5 � , ��� ,  &9+9u�D/0��$�$ ( �c���DF&�������# O����$G%09-��$ *+5 � , gA� y �&y.gA����FG���;�#�# "�#��$&%0��% �#1+�J9+���D����%+4D� $ =  &%
$V4D4 58( ���8$G% $G� , ��������%-F�/: O�! )y � %+1+�����D%A�H�#$���1+� ���DF&�������# O����$G%  5 FG$&���8��1 , ���S��1+�  &��� (+, 9)�#��$&%
�#1+ O�J�| &4!1t����FG��$&%���% �#1-�Y��$ ( ��4D�H� ,  &FG��1: &�J 04D$G��������9u$G%+/+�8%+F ,  O��4!1���%��#1-�S�! &��FG���J� ,  &F&�&y
��� � 585�( �;�#�� O�#��/ �8% 2 ��F ( ��� j y j g �#1-��� %+�D��/_%+$&�p 5 PE |6V� * ���#1+�x4| &���&y � %+/+��� � ( 4!1_���.� (  /
�#�8$G%+��g>$ ( � ����FG���;�#�# "�#��$&%  5 FG$G���.�#1 , �76V9+�84| 585 6 =  &� 5 ��y � %+� PB |6~�#$ 4D$G%A�#��%+/ PJ�8��1 9: &�;�#�< 5 $&�
, ��������%+F /: O�! 0�8�E�#$0� , 9 5 $f6  09+��� / 9+��$)4��D������%+F ���DF , �D%A�! "�#��$&%����#��9 y z �Y9+��$G9u$G���Og:1+$ PB�IeG�D��g
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 , $G��� ( %-� @ ��/  &9+9-��$A &4!1 ��% PJ1+��4!1 ��1+� ���DFG�8�����# O����$G%  &%+/ ���DF , ��% �# O�#�8$G%{ &���p9i��� = $G� , ��/
��� , (+5 �! &%+��$ ( � 5 6Gy

z � * �DFG�8% * 6t &��� (+, ��%-F ��1: O� �| &4!1x9+� o � 5 ��%��#1+����$ ( ��4��  &%-/t�# &��FG�I�  &���H�D�.�#1+���J��� 5  O�#��/
�#1-��$ ( F&1p�#1-����%A���D%+���8�76  &%+/ FG�D$ , �������84 , $V/+� 5 $ = n C (  "�#��$&% r j y 4 l sIg /+�D%-$&�#��/� &� , $V/+� 5

M1

g
$G�S4D &%+%+$O� * �0� o 9 5  &�8%+�D/ * 6 ��1+�������# &%-� = $G� ,  O����$G%  &%+/ �#1-�D��� = $G��� * � 5 $G%+FG�S��$  &% � $ ( � 5 �8�D� �
, $)/+� 5

M2

y K � o � 5 � * � 5 $G%+F&��%+F ��$ ��1+�H$ ( � 5 ����� , $)/+� 5  &���H��1+$G������1: O�J/+$ %+$&� 1: |eG�� 04D$G����� /
��9u$G%+/-��%+F ,  O��4!1 * �I�7PB���D% �#1+�S��$ ( ��4D�H &%+/ �# &��F&���E� ,  OFG�D��yL����� (+, ��%-F �#1: O� �#1+�Y9-� o � 5 �E &���
��9+ O�#�� 5�5 6 ��%+/+��9i��%+/+��% �� &%-/ �8/+�D%A����4| 5�5 6 /-��������� *+( �#��/ r �8��/3s gi�#1-� 5 ���O� 5 ��1+$V$)/t$ = $ * ���D�;e)�8%+Ft 
9: &�8�E$ = � ,  &FG�D�B��� FG�.eG�D% * 6uq

L(~m) =
∏

x,y∈Ω

P (~q(x, y)),
r j y 5 7As

PJ1+�����&g
~q(x, y)

/+�D%+$O�#�D� �#1+� � ( 9 5 ��$ = ��$ ( ��4D�Y O%+/ �! O��FG�I�B� ,  &F&� �8%A�#�D%-���8�������
(m7f(x, y, t)+

m8, f(m1x + m2y + m5, m3x + m4y + m6, t − 1))
g n C (  "�#��$&% r j y 4 l sIy�1\$x��� , 9 5 � = 6x��1+�

$G9-��� , �76D O�#�8$G% $ = �#1-� 5 ���O� 5 �81+$V$)/ =?( %+4�����$G%>g-PB��4D$&%+���8/+�D� �#1-� 5 $GF / 5 ���O� 5 ��1+$V$)/ =?( %-4��#�8$G% q
log[L(~m)] = log

[

∏

x,y∈Ω

P (~q(x, y))

]

=
∑

x,y∈Ω

log [P (~q(x, y)|M1)P (M1) + P (~q(x, y)|M2)P (M2)] .
r j y 5 � s

����� (+, ��%-F ��1: O� �#1-� 9-����$&��� $G% �#1+� , $)/+� 5 ��g
P (M1)

 O%+/
P (M2)

gY O��� �DC (  5 g��#1-� 5 $GF /
5 �8�&� 5 ��1-$)$V/ =?( %-4��#�8$G% ��� , 9 5 � @ ���B�#$-q

log[L(~m)] =
∑

x,y∈Ω

log [P (~q(x, y)|M1) + P (~q(x, y)|M2)] ,
r j y 5 8As

PJ1+�������#1+� =  &4���$G����/  O/+/+�8���8e&� 4D$&%+���# &%A� ��� �8FG%+$G���D/ = $G��9 ( ��9u$G���D� $ = ,  o � , � 6| O����$G%>yxz{�
 &��� (+, �H%+� o �J�#1: "� ��1+�H4D$G%-/+�8����$G%: 5 9+��$ *  * � 5 �.�#����� �# &�&�H�#1-� = $ 5�5 $fPJ�8%+F = $G� , y

log[L(~m)] =
∑

x,y∈Ω

log
[

e−r2(x,y)/σ2

+ e−c2
]

.
r j y 5��As
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2:$G� , $)/+� 5
M1

PB�� &��� (+, �  �H ( �����< &%t/+�8���#��� *+( �#��$&% r PJ�8��1�e& O���< O%+4D�
σ
s g:PJ1+�D���

r(x, y)
���

�#1-�����D����/ (  5 �D����$G� * ���7P �D�D%t�#1+�H��$ ( ��4��  O%+/t�# &��F&���J/+� @ %+�D/~ &�Dq
r(x, y) = [(m7f(x, y, t)+m8)−(f(m1x+m2y+m5, m3x+m4y+m6, t−1))]2.

r j y � l s
2:$G� , $V/+� 5

M2

P �  &��� (+, �  ( %+� = $G� , /+�8������� *-( �#�8$G% r � y �&y.g
c
���  4D$G%-���! O% �!sIy!1 1+� 5 $GF /

5 �8�&� 5 ��1-$)$V/ =?( %+4�����$G%{��� ,  o � , � 6D�D/ * 6 /-� 5i�D����%A�#�< "�#��%-F+g �������#��%-F~�#1+�p����� (+5 � �DC (  5 �#$ 6D�D��$
 &%+/t��$ 5 eV��%+F = $&�

~m
q

d log[L(~m)]

d~m
=
∑

x,y∈Ω

dr2(x,y)
d~m

e−r2(x,y)/σ2

e−r2(x,y)/σ2 + e−c2
=
∑

x,y∈Ω

dr2(x, y)

d~m
w(x, y) = 0,

r j y	� 4 s
PJ1+�����

w(·)
��� /-� @ %+��/ ��$ * � ��1+� �� O�#�8$ $ = �#1+�~� o 9i$&%+�D%A�#�� 5 /+�8������� *-( �#�8$G%+�Dy � ����%_��1+�

9+����eV��$ ( �B����4�����$G%+��g)��1+�����D���8/ (  5
r(·)

�8� 5 ��%+�D &��� 6D��/ PJ�.�#1 ���D��9i��4��E��$��#1-� , $)/+� 5 9: &�# , �I�#�D���
~m
y 1 1+� /+�D���8eO O���8eG�J$ = �#1+� ���D����/ (  5 g

dr2(x, y)/d~m
g)�8�c�#1+��% � (+* ���#�.� ( ���D/ �8%A�#$���1+�  * $ e&� �#$

6V��� 5 / q
∑

x,y∈Ω

−2~c [k − ~c T ~m]w = 0,
r j y	� j s

PJ�8��1
~c
 &%-/

k
F&�8eG��% * 6 n C (  "�#��$&%+� r j y 4 j s  &%+/ r j y 4 m sIg+ O%+/ g: &� * � = $&���&g+ 5�5 ��9: O���< 5 9: &�� , /

�����D���  O���S/+��$G9+9u�D/ = $G�E%-$&�! O����$G%+ 5 4�$G%AeG��%+����%+4D�Oy ' $ 5 eV��%+F = $&�B�#1+� , $V/+� 5 9: &�# , �I�#�D���B�#1-�D%
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[c, 1]
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[0, n],PJ1+�����
n
e& O������� = ��$ ,
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* 6t���D9u�| "�#��%-Fp�#1-����� , (+5  O�#�8$G% g+������� ,  O�#�8%+F $G% 5 6���1+� F&�D$ , ��������4Y���D� , � ��% �#1+�����DF&�������# O����$G%
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